1 PY'RVL866'T ) ) vy'8rL'856' ¢0000LeY ALUEYLLUZENULIMELMLENLBLLUNTILIAL LS ﬁ?&%&ﬂ%wﬂﬂ
08168 - - 0€’188 6666612 Lngeemuemiy
0001 : - - 000} £1000L2¥ BLSLALIE| LWRSNNATMNELELY
ooeie'oLL 00°2ETYL - 00°086'GE9 GLOOOIZY | MOURLRUEUBLIZLTNLONLLUBHANICUETAMIULENAIINLLELY
6£°€26'8 6£'€C6'8 - = €1000L2¥ NAEILL] [HLEHLLULL
69°L22'S = - 69°122°S zLoooley LNELEABLULY
G6'0SE vy 9Z'6€6'L¥C - 69°LLY'20C L0000}y BLILEMLLEEILY
9L'¥9v'99¢ 9,°269'L1E - oY LLEVSL ¥0000LCy L] ALLLLIE TUL'M HUSKMILBERALY
6875619 - d 68 ¥¥S'619 2000012¥ LUMIBHULY MM zrsz_@#amw@rc
9G°/8¢2'Sy - - 9G'/82'GY 10000LCY BNAULMEHINEL CLBIENALY
00091 00°00L < 0009 L000€CLY wrcrozcnnsrrcnmh;méra_zm:_.%
00°000°LL 00°000'9 = 00°000‘S £000EZLP | MLULisRWALLNENIULLUCYNEULBLULLUNRUA LT LY
00°001L°Z 00°00L'2 - = 0100ZCLY LitfbpepeLUng LY
00289y 00289 - - 6666LCLY L nertnpineLeLy
00°0S - - 00°0S 6200lCLy ALYILMNBIZUIYLRUINBHINLLELY
o000k 0oL ) ) clootety LLUGMILE[INMNIGLUBLUSL [INMITTBLY AL[T] sm::w:mmﬁﬂw
00°00L 00°00} - - oLootcty arzxrwu;rcuvw:wfcvow:w@Mvﬁgwwﬂrrmﬂﬂwm%mwwmﬂ
00°0¥6°9S 00°020°C¢ = 00°026'¥2 8000l¢Cty ARMERNLISINYINAHINCLELY
08'eve 06'68} - 06°€St LOOOLCIY LLBLEHIBMLLLLUNULAYINAHIRLLOLY
0008y 00°00} 0008 00°09¥ €00001 LY ALY
L8°L9E L9C = 02'59¢€ C0000L Iy yreyttLngy

€/C - L

296G nnRLuLLM Og Ung 18

£9GZ YULNAL [T
MUV

arrrwzarm»:rurrsw:rrcwné

Z9GzZ/1 HI0E Uny 1 eiteq
£Z:60 CIST/TLIT : MremunL




